googoog,gboboogo,bobood

gogn goobobobo,oodobobo,oooon
godn gooboboboooggn
HEN HEN
goon goono:d
go:0odd
0 0O :HI-YW90
goon oo oooobbobogoo
ERERERN 86-076985052581/85052586/18924369773
13751473631
HREREEN
gooo

000000 O9%00x 600x 500 (wx dx h)mm
gobbooboooooad

00O 0 0 220v0 O 1.5kw 50/60hz

OO0D0O0O00OOcensjisastmgb2423.190 0000000000

a0 0 00000Ons(CO0O0O0OO0O)dacss(COOOOO)

1040404g3sg £ 10

2000000470+ 10

bOOO0OO0OcassUODOOODDOODOOO

1oggagsod = 10

2000000e3d £ 10

goooon

goobooo




al000O0OpvclO0O0OOOOODDOODOOOOOOOODDODDDOSMmmO
bOOOODDO0OD0O0O0OD0DDOO00O0O00D0DOOeBmm
clboououobobbouooouoboobnouga

dOODO0OD0Osus#340 0000000000 DOO@WO)

e 0000oouoboboooouobbob oo bobbouooo

goooon

albgoououbobbuoooubbbuoooobbbuoooobobbbuooo
bOOOODDOO00OoOo00oobooooooboobooooboo
c000o00DDi1~2miO ml/80cm2/h0 (160 0 O DO O)

guooobood

a0 0000000000000 02kg/em0000000O0O0kg/cm20 000

bOOODDO0Osc20 0000000 DO0O0O0O0O0O0ODO0O0

goooon

O00000000000b000b000bob0oobooobdUon/offCOD0O0D00O0ODDOO0OO

goooon

a0 000000 00oboooooo-9YuboibnoonDbbpdiDO0DOODDO=* 0500 vertex.vtd
81000 101

b0 00000000099 0000000000pdDOODOOOOO=* 0500 vertex.vt48100] 17
ciioooooobbio~sod 1
d0O00ooonooboboooodoo~soon 10
el 00000OODODO9.95~9990hr10
fOO O 0 0~9999hr(J 100 OJ
gl O O O 2.0kg/cm20 O O 0.01kg/cm2
hOOOOoDOoOo0Oo0Oo0O00ooooo200000
gooooood

ald0dogobooobood



bOOOoooooon

cnooaag

goubbgggooobbouoooooobuogoa

gooood

100000ogo2 200000020

30008iem20 020 4000000110

s ggily 600 0 000000000 20

OooboboObOoO00ooooobbbbbodOoUrH-Ywool O 0O 000 0doeoo*eoo*soot mmU OO OO
o300l oooboobliwboobobooobdi-20mL/goCcy O hO


http://www.tcpdf.org

